
 7/12/2024 2024 USA RETAIL CATALOG 

M1 Bambino - 60cc USA



7/12/24 Page 2

 HEAD AND CYLINDER M1 BAMBINO

 POS PART # DESCRIPTION USA RETAIL 
1 EA40110A CYLINDER HEAD M1 218.48$                  
2 EA10310 CYLINDER HEAT COVER M1 91.58$                     
3 B-75660 EXHAUST NUT 8mm 7.42$                        
4 EZ00002-K KIT CABLE GUIDE 6 pcs. 10.98$                     
5 EZ00001-K KIT CLIPS 6 pcs. 9.17$                        
6 EA10710-K KIT LOWER FIXING PIN 2 pcs. 14.64$                     
7 EA10810-K KIT UPPER FIXING PIN 4 pcs. 16.49$                     
9 00303-K KIT OF 20 WASHERS M8 1.90$                        

10 A-61048 HEAD GASKET 0.10mm 5.08$                        
11 EBP-85045 CYL. GASKET 4/10 PUMA/GAZ 3.56$                        

13A EA01010A CYLINDER M1 610.42$                  



7/12/24 Page 3

 PISTON M1 BAMBINO

 POS PART # DESCRIPTION USA RETAIL 
50 A-61320 PISTON PIN mm12x35 v.'07 21.23$                     
51 10342 CIRCLIP 12x1 2.29$                        

52A A-61051-CR PISTON MINI-SW'07 41.80r 86.01$                     
52A A-61051-CV PISTON MINI-SW'07 41.80g 86.01$                     
52A A-61056-CR PISTON MINI-SW'07 41.82r 86.01$                     
52A A-61056-CV PISTON MINI-SW'07 41.82g 86.01$                     
52A A-61061-CR PISTON MINI-SW'07 41.84r 86.01$                     
52A A-61061-CV PISTON MINI-SW'07 41.84g 86.01$                     
52A A-61066-CR PISTON MINI-SW'07 41.86r 86.01$                     
52A A-61066-CV PISTON MINI-SW'07 41.86v 86.01$                     
52A A-61071-CR PISTON MINI-SW'07 41.88r 86.01$                     
52A A-61071-CV PISTON MINI-SW'07 41.88g 86.01$                     
52A A-61076-CR PISTON MINI-SW'07 41.90r 86.01$                     
52A A-61076-CV PISTON MINI-SW'07 41.90v 86.01$                     
52A A-61081-CR PISTON MINI-SW'07 41.92r 86.01$                     
52A A-61081-CV PISTON MINI-SW'07 41.92g 86.01$                     
52A A-61086-CR PISTON MINI-SW'07 41.94r 86.01$                     
52A A-61086-CV PISTON MINI-SW'07 41.94v 86.01$                     
52A A-61091-CR PISTON MINI-SW'07 41.96r 86.01$                     
52A A-61091-CV PISTON MINI-SW'07 41.96g 86.01$                     
52A A-61096-CR PISTON MINI-SW'07 41.98r 86.01$                     
52A A-61096-CV PISTON MINI-SW'07 41.98v 86.01$                     
52A A-61101-CR PISTON MINI-SW'07 42.00r 86.01$                     
52A A-61101-CV PISTON MINI-SW'07 42.00g 86.01$                     
52A A-61106-CR PISTON MINI-SW'07 42.04r 86.01$                     
52A A-61106-CV PISTON MINI-SW'07 42.04g 86.01$                     
52A A-61111-CR PISTON MINI-SW'07 42.08r 86.01$                     
52A A-61111-CV PISTON MINI-SW'07 42.08g 86.01$                     
53 A-61150 PISTON RING 'L' 41.80X1.5 34.69$                     
53 A-61160 PISTON RING 'L' 41.84X1.5 34.69$                     
53 A-61170 PISTON RING 'L' 41.88X1.5 34.69$                     
53 A-61180 PISTON RING 'L' 41.92X1.5 34.69$                     
53 A-61190 PISTON RING 'L' 41.96X1.5 34.69$                     
53 A-61195 PISTON RING 'L' 42.00X1.5 34.69$                     
53 A-61200 PISTON RING 'L' 42.04X1.5 34.69$                     
53 A-61210 PISTON RING 'L' 42.08X1.5 34.69$                     



7/12/24 Page 4

 CRANKCASE & CRANKSHAFT M1 BAMBINO

 POS PART # DESCRIPTION USA RETAIL 
9 00059-K KIT 20 SCREWS TCCE M6x12 4.88$                        

16 00321-K 20 ONDULATING WASHERS KIT 3.34$                        
25A A-60488A CRANKCASE CADET/M1 467.24$                  
26 00048-K KIT OF 20 ALLEN SCREWS  6x40 7.17$                        

26B 00050-K KIT OF 20 ALLEN SCREWS  6x50 7.18$                        
27 A-60345 CYLINDER TIE-ROD 8x125 8.74$                        
28 F-10425A OIL SEAL TCWJ 20x35x7 18.31$                     
30 10407 STEEL SHIM O.1O 3.56$                        
31 10400-D BALL BEARING 6204 C4 26.50$                     

32A A-60619 CRANKSHAFT GAZELLE PULL START 631.44$                  
33 A-60385 DR.S.H.CRANKSH.GAZ/EASY-62 213.89$                  
34 A-60391 MAGN. S. H. CRANKS X30 ROOKIE 222.54$                  
35 A-60440 SMALL END CAGE 60cc 12x16x16 14.79$                     
37 A-60450 CRANKPIN 18x40 mm 32.35$                     
38 B-10431 BIG END CAGE 15 R 48.05$                     
39 10584 PARILLA TaG PLATE 14.49$                     

40A A-60455-40 CONROD GAZ/EASY mm96-pin 40 326.47$                  
41 11715 SHAFT END/SPROCKET/MAGNETO KEY 3.56$                        
42 11716 SHAFT END/SPROCKET/MAGNETO KEY 3.56$                        
45 00359-K KIT 20 NUTS M8X1 9.56$                        
50 00305-K KIT OF 20 WASHERS M10 7.47$                        
51 D-95800 PRESSURE FITTING 5.08$                        
52 B-71805 PRESSURE Cu FITT. GASKET 1.81$                        
53 A-61810-A PRESSURE FITT. TUBE 20cm 2.29$                        

60A TI-SA-507 M1 Engine Mount



7/12/24 Page 5

 INTAKE M1 BAMBINO

 POS PART # DESCRIPTION USA RETAIL 
195 A-61822 CARBURETOR GASKET MINI/BABY-SW 3.56$                        
197 EG31011 CARB. SPACER 21/19,5 22mm 36.63$                     
198 00028-K KIT  OF 20 HEX. SCREWS 5x60 7.77$                        
199 00046-K KIT 20 SCREWS M6x30 7.18$                        
200 TI-HS-325A CARBURETTOR HS-325A 173.08$                  
220 EG03011 INLET SILENCER M1 33.67$                     
221 TFG-90001 JUBILEE CLIP OETIKER RS 7-58-69mm 14.23$                     
222 TI-RK-41HS HS-325A Carb Repair Kit 32.95$                     

TI-DG-15HS HS-325A CARB GASKET & DIAPHRAGM KIT 21.96$                     



7/12/24 Page 6

PULL STARTER M1 BAMBINO

 POS PART # DESCRIPTION USA RETAIL 
90 00261-K KIT 20 SCREWS TCH M6x10 15.47$                     
91 00314-K KIT 20 W2ASHERS M6X17X3 8.93$                        
92 A-61975 STARTER PULLEY 16.82$                     
93 A-61872 VOLUTE SPRING 17.71$                     
94 A-61875-K STARTER COVER X30 ROOKIE 45.95$                     
95 00029-K KIT OF 20 ALLEN SCREWS M5x35 7.47$                        
97 IMI-40400A STARTER HANDGRIP 7.17$                        
98 A-61876-C STARTER ROPE 5.08$                        

99A A-61875-C STARTER COVER X30 ROOKIE CP. 79.45$                     



7/12/24 Page 7

 CLUTCH GROUP M1 BAMBINO

 POS PART # DESCRIPTION USA RETAIL 
97 EF23010 CLUTCH COVER M1 54.15$                     
98 00046-K KIT 20 SCREWS M6x30 7.18$                        

105 A-60842 CLUTCH HUB X30 ROOKIE 102.53$                  
115 D-75573 EXTERNAL WASHER 3.56$                        
116 D-75565 THRUST INT.WASHER H=1,8mm 5.08$                        
119 D-75570 STARTER NUT TaG 7.13$                        
120 A-60565 CRANKSHAFT DRUM O-RING 2.19$                        
121 B-55598 CLUTCH ROLLER CAGE - SHORT (USE WITH O RING) 13.33$                     
122 A-60552-10 DRUM W/SPROCK. Z10 X30 ROOKIE 86.08$                     
122 A-60552-11 DRUM W/SPROCK. Z11 X30 ROOKIE 82.78$                     
123 D-75598 CLUTCH ROLLER CAGE - LONG 13.33$                     
124 A-60560 LOCKING NUT TaG 9.52$                        
125 D-75563 WASHER CONED SAF. TaG 5.08$                        



7/12/24 Page 8

 EXHAUST GROUP & GASKETS M1 BAMBINO

 POS PART # DESCRIPTION USA RETAIL 
11 00161-K KIT OF 20 HEX. SCREWS 6x12 7.47$                        
17 00331-K KIT 20 EXHAUST WASHERS M6 1.61$                        
80 EH04011 EXHAUST M1 149.85$                  
81 EH05011 EXHAUST HEAT COVER M1 83.25$                     
82 A-61360 EXHAUST GASKET MINI/PUMA-85AUS 8.35$                        
83 EH20512 M1 EXHAUST SPACER 22mm 12.69$                     
83 EH20513 EXHAUST SPACER RESTRICTION 13.5mm 41.62$                     
84 00311-K KIT 20 WASHERS M6x24 7.86$                        
85 00040-K KIT OF 20 SCREWS M6 X 14 7.17$                        
86 00085-K KIT OF 20 SCREWS M 6x95 12.00$                     

146 EZ00990 GASKETS KIT M1 28.11$                     
150 00602 GASKET AREXON 43.59$                     



7/12/24 Page 9

IGNITION M1 BAMBINO

 POS PART # DESCRIPTION USA RETAIL 
250 SP-AR50 SPARK PLUG - AR50 AUTOLITE 11.95$                     
250 SP-BR10EG SPARK PLUG NGK BR10EG 12.95$                     
251 10545 SELETTRA SPARK CAP 9.37$                        
252 00064-K KIT 20 SCREWS M4x18 8.00$                        
253 00319-K KIT 20 WASHERS M4 1.95$                        

254A A-61957 COIL ROOKIE/CADET n.t 108.00$                  
255 IME-02300 PAWL FIXING SCREW 23.52$                     
256 A-61970B IGNITION PAWL 31.08$                     
257 A-61971 PAWL RETAINER SPRING 3.03$                        

259A A-61953-C IGN. FLYWHEEL X30 ROOKIE COMP. 163.37$                  
260 B-71792 IGNITION SWITCH 14.44$                     
261 A-61921 STOP BUTTON BRACKET 20.45$                     
262 00031-K KIT OF 20 ALLEN SCREWS M5x16 5.08$                        
263 00301-K KIT 20 WASHERS M5 1.81$                        
264 A-61972 STOP BUTTON CABLE 5.86$                        



7/12/24 Page 10

 PULLERS & TOOLS M1 BAMBINO

 POS PART # DESCRIPTION USA RETAIL 
600 10271 PISTON STROKE LOCKER 38.12$                     
601 B-55614-C CLUTCH PULLER - 03'LEO/KPV/MINI 47.22$                     
602 10202 PISTON PIN PUNCH 12mm 25.05$                     
603 ATT-034/4 ROTOR PULLER 168.06$                  
604 10121 CIRCLIP INSTALLATION TOOL - MINI 149.05$                  

EG77000-C M1 BAMBINO TANK MOUNT KIT 49.95$                     



7/12/24 Page 11

 CRANKSHAFT ASS/DISASEMBLY & TIMING M1 BAMBINO

 POS PART # DESCRIPTION USA RETAIL 
650 10110A CRANKSHAFT ASSY TOOL 1,956.82$              
651 10150 CRANK-PIN BUSH 18mm 62.54$                     
661 10107 CRANK-PIN PUSHER 11.66$                     
662 10103 CRANKSHAFT PLATE 60/85/100cc 100.61$                  
664 10100 CRANKSH. DISASSY SUPPORT 167.09$                  
666 10108 CRANKSHAFT INSERT60/85/PV100SW 54.29$                     

690A 10820A TIMING CHECK DISC TaG/REEDSTER 130.03$                  
691A 10828-C TIMING CHECK DISC ADAPTER M10 53.38$                     


